	
	
	
	
	


Osobní číslo:
                  Celkový počet bodů:                                   27.4.2011
                 
PŘIJÍMACÍ ZKOUŠKY Z ANGLICKÉHO JAZYKA 

Čtyřleté studium

1.) Read the following text and decide if sentences a-d are TRUE or FALSE. Circle 
the correct option.

The Nothing Hill Carnival

The Nothing Hill Carnival is the largest street festival in Europe. It takes place in Nothing Hill, London, every year in August and it lasts for three days. On Saturday, the first day, there is 
a competition between groups of musicians who play special metal drums called “steel drums”. Sunday is children’s day and there is a special parade for children and young people. The main parade takes place on Monday.

The carnival began in 1959. It was an idea of members of the Caribbean community who lived there. At first, it was an indoor event, but in 1965 it moved outdoors. At this time, only about 1,000 people went to the carnival each year, but the numbers soon started to grow. By 2000, there were about 
1.5 million spectators.

In the past, there has been some trouble at the carnival, especially between the spectators and 
the police. And there have also been worries about safety because the crowds are large and the streets are narrow. For these reasons, some people have suggested banning the carnival. However, it is now an important event in London.

a) The Nothing Hill Carnival has been held for more than 50 years.

T      F
b) Since its beginning it has always been a large event.



T      F
c) It is designed for adults as well as children.   




T      F
d) The police wanted to ban it because of the spectators. 


T      F
2.) Ask a question to the underlined words in the text.
a)
(in August)……………….……….....................................................................................
b)
(outdoors).........................................................................................................................

3.) Complete the sentences with the correct preposition, if none is needed, cross 
the gap out.

a) I have had the car ...............October. I bought it .......................October, 15.

b) We wanted to go .........................the cinema, but we ended up ..........................
a restaurant.

c) Who are you waiting ............................?

d) I get up ................................6.30 every day.

4.) Complete the sentences with the correct article, if none is needed, cross the gap out.

a) I’ll buy ........................new laptop.

b) London is .......................capital city of England.

c) How did you get to………………school today?

d) They like playing .........................guitar.

5.) Circle the correct option.

a) We often go/go often/are often going swimming on Sundays.
b) We didn’t have many/few/much time.

c) She noticed/realized/understood she knew the person.

d) I hadn’t buy/didn’t have to buy/must buy any apples. There were plenty 
in the fridge.

6.) Put the verb in brackets in the correct form.

a) I promise I ................(call) you as soon as I arrive.

b) What .................you..........................(do) tonight?

c) When I saw him, he .......................................(go) along the street.

d) ........................you ever ...............................(be) to the USA?

e) If I were you, I ................................(buy) the coat.

f) He usually ...........................................(wake) up very early.

g) -...............................it................................(go) well yesterday?

-Yes, of course. The plane ...................................(take off) on time.

7.) What is it?
a) two children born to the same mother on the same day:
b) an animal that can fly and lay eggs (in general):
c) time of the year when people don’t go to work or to school:
d) a doctor whose job is to look after your teeth:
e) a room or a building where you can go to borrow books:


Opravoval:                           Kontroloval:                                                                                    


